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A ETRSERE:
1. BEREE:

KRBT © 761mmHg

WRE 1 22.8°C

HHH : 107/04/09

BEE : 1410 RPM EEER : 140V BB ' 55A EHAILER : 1.3kW

=9l FHER Psl v LA BR P1l FEE /A\h=Py(=P1-Ps) / v
(mm J&FE) (mm J&HE) (mm J&HE)
1 3.1 20 16.9
2 3.3 19 15.7
3 3.3 19 15.7
4 3.3 18 14.7
5 3.3 18 14.7
6 3.3 18 14.7
7 3.3 19 15.7
8 3.4 20 16.6
3.3 19 15.6
SEEEME
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2. BtREBERE:

_i_ 761%x13.6x9.8
RT 287x(273+22.8)

JEE A -2 2R

v = 2gAh :\/2x9.8x16.6x0.826 _14.9m/s
yo, 1.195

JE &

Q= AV, x60="x0.3" x14.9x 60 = 63.2(m" / min )

KA BRZE SR ) /T
_ PQ  19x0.826x9.8x63.2
T 60x1000 60 x 1000
P BRZE SR ) /T
_ PQ  0.826x3.3x9.8x63.2
*" 60x1000 60 x 1000
" =L 1000 = 9192 _ 47 6%
L 0.34
A

L .
2,= =2 x100% = 2020 _ g 20
L 0.34

=1.195kg / m®

— 0.162(kw)

— 0.028(kw)
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3. sTRER:
HE 1410 | 960 1010 | 1060 |1110 |1160 |1210 |1260 | 1310 | 1360
N RPM RPM |[RPM |RPM |RPM |RPM |RPM |RPM |RPM | RPM
SEIGLERE Prl 19
(mm )
EEERRR Ps/ 33
Cmm )
reomEs |0
h=Pv/ v (mm
ML)

ZEREE o 1.195
(kg/m?)

SR V 14.9
(mls)

& Q(m¥min) | 63.2
FBRZERE I Ls | 0.028
(kW)

HRZERES | 0.162
Lt (kW)

WMAER (V) |140
WMAER (A) |55
AR L(kW) | 1.3
BHEBZERBED | 8.2
s (%)
LERRZESRRE n | 47.6
T (%)
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2. EAFIREEAERRE N E R - (D)TEE 2 3B - SERIENM R B L HIEEIRER?
QAT E 2] B B A SR E 2 /2

(1) #n Big R vt IR R 20 T BEE4 T60mmHg 0 Ap B R S0%2 wE i 5 3 F R
SRR FPELFL %A 1.2%ke/ 3 -
(2)
(19 < 0.826 )+ 761
Qupp = 213120 EY: x63.2 = 62.77
273+ 228 760
Q: &

P: RKSREET)
Td: KEURE

P, x0.826 ,.
————— [ 4HRR
13.6 e

(KER#AELLEE 113.6- 4T #E/K 2% ELLEE 1 0.826)
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